Bellwork Alg2  Thursday, April 16, 2020
1. Cis the right angle in A4BC. If tanB = 824 find the remaining five trig ratios.

13
cosd = sind =
secd = cscAd =
cotd =

2. The reference angle for the angle shown below in Standard Position is 8 = % State both a positive
and negative measure for this angle, in radians.

134

Positive:

Negative:

3. Find the EXACT value of each using the Unit Circle. You can find a copy of the Unit Circle on my blog
under the heading "Helpful Math Resources and Math Links". Give answer in simplified radical form with
rationalized denominators.

a. tan%’t— b. cosll—g—”— c. csc 840° d. cot13x
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3 4 find the remaining five trig ratios.

___TanB= oPP _S5Y

- ADT i3
< 'H 2 ey
3 IR 2 A I
= Kz 851 F x=85

2. The reference angle for the angle shown below in Standard Position is 6 = 3" . State both a positive

and negative measure for this angie in rad:ans
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3. Find the EXACT value of each using the Unit Circle. You can find a copy of the Unit Circle on my blog
under the heading "Helpful Math Resources and Math Links". Give answer in simplified radical form with

rationalized denominators.
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